Instructions for Homework #3: Price Elasticity and Total Revenue
. 
U.S. winter wheat production increased dramatically in 1999 after a bumper harvest.  As supply increased (there was a rightward shift in supply) the price of wheat decreased.  At a lower price there were more wheat consumed and sold.  The following table describes what happened to prices and the quantity of wheat.
                                                                      1998                       1999
Quantity demanded/sold (bushels)             1.74 billion            1.9 billion
Average price (per bushel)                           $3.70                    $2.72
a. Do you expect the demand for winter wheat to be elastic or inelastic? and why?  (hint: consider the factors that determine price elasticity)
b. Calculate the price elasticity of demand for winter wheat.   Is your expectation right?
c. What happened to the total revenuers for U.S. wheat farmers after the bumper harvest in 1999?  How could you have predicted this result from your answer to part b?
